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Sixth Semester B.A. Degree Examinations,
NOVEMBER/DECEMBER 2016

(Semester Scheme)
Economics

(SAF 240) Paper VII - ADVANCED INDIAN ECONOMY

Time : 3 Hours| [Max. Marks : 80

Instructions to Candidates :
.ﬂagﬁrdm aresdned

1) This question paper carries a maximum of 80 marks.
& g D38 2.4, MO wosieL 80.

2) Section-A carmes 15 marks, Section-B carries 20 marks and Section-C
carries 45 marks.

-1 15 ©oFe, B-270r8 20 @0t SO A=GRITE 45 0TI
ROOF S,

3) Clearly mention the serial number of the questions.
JInY g0 o MY T30oN dX1od2.

SECTION - A/ %R - &
L Answer any THREE of the following questions : 3x5=15

adREEte Sed ZERYH vgdd:

1. What are the causes for the regional inequalities in India?
P0IBT T e85 VRIIRCORE, ToTnnvaHT?

2.  Write a note on the advantages of Green Revolution.
BHU 53,0300 vRdBLROI0D Wi E3z£d 200WD.

3. What are the defects of public distribution system?
PIFBIT 30T FSE0b deeanvas)z)?

4.  What are the problems of public sector enterprises?
3w I0abE evERone ZRoRRvH)?

5.  What are the features of Indian Money Market?
PoU3n Bed S00Es ad OFrNVR)I)?

6.  Write a note on Securities and Exchange Board of India (SEBI).
37030 #edd aT,0d SvoBdYad> sz.:r'j1 Bdﬂcé W30V,
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SECTION - B/a%er - 8

Answer any TWO of the following questions : 2x10=20
QIRFH)WECL TR TP su3d :

Explain the factors responsible for the population explosion in India.
03T m&dﬁoaa% '-'..u%ctdi% FoU E voa’rwaql 302

Discuss the causes for the inequalities of income and wealth in India.
030 umacdh ) 03T ¥x3ecos Fowdn TUnTE uoarrwnzl 302

Explain the various revenue sources of central government of India.
PIUIE Beod, 353F VR ITINFE G Soeords) IO

Explain defects of agricultural marketing in India.
PUSE GA SR0LTE ob BeEnds) HZ02.

SECTION - C/2%%n - %

Answer any THREE of the following questions : 3x15 =45
ciRFmerce Suedd BN eu3ddy :

‘India is a developing economy”. Discuss.
‘03P wowd u@q,ﬁ};pw oasé. 3232,

Explain the various sources of agricultural finance in India.
PRUSW FA Fe3 T F0TAT AG Soaeenvd) A2

Explain the importance and problems of small scale industries of India.
PU3T 3y §mdINnY SoEE Forle T NYR) DD

What are the types of public expenditure? Explain the causes for increasing the public
expenditure in India.

RIFET I8 IPRYeIHR)? Peudnd BIruiT ;Sz.iuci asz.iu%‘ﬁ& B0 RrdR), D02

Discuss the causes for disequilibrium in the balance of payments of India. Suggest its
corrective measures.

03w =8 30 ussdacosT TIOHNYR), B3 Hore FOH0 gRorida) s,

What are the characteristics of industrial labour? Explain the problems of trade
unions in India.

3,d5e 5o20F 80 OFONVRR)? (R03R TIAFE FoFpnd ZRFNVE) IS0
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